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Note : ()  All questions are compulsory.

(i) Programming language : C**
(i) Marks allotied to the questions are indicated against them.
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How are objects referenced with the member functions 7
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What is Function Overloading ?
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Why was the concept of Inheritance introduced in Object Oriented Language 7
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Give the output of the following program —

# include < iostream.h >
int global = 10 ;
vuﬁ.mc{int & X, int y)
| x=x-y;y=x%10;
cout <<x<<‘<<y<<\n’; }
void main( )
{
int global =7 ;
fune (; : global, global) ;

cout << global <<‘," <<::global <<n’;

func(global, : : global) ;

cout << global << ‘" << : : global << "\n';

}
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Differentiate in following —
() HEgaeY 3R HIU! Hrgde

Constructor and Copy Constructor

({) WEIege $ENCE TUT Heelud FHeRe
Multilevel inheritance and Multiple inheritance

(m) wfeg # wasmSy —
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Explain in brief—
0 fewgaer
Destructor

wferar e o & 7 we Hifvd |

What is meant by alias ? Clarify.

v waA faled o <) Wil & Weow wEhade @ gal oerar @i |
Write a program that finds out Greatest Common Factor of two numbers.

(i) TADHATA
Encapsulation
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Write a program to define and declarg the elements of a class.
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Clarify the difference between Array and Linked List. ;

G) ¥ @8 ?
What is Queue 7

7 6 B o KATE [20] [50] 7 4 915cW SRS @ S9aadal & KATE &7 99
TS$H 3000 8| KATE [10] [10] BT @S9+ ga18¢ wafd — 4
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Suppose each element of an array KATE [20] [50] requires 4 bytes of storage. Base address of

KATE is 3000. Find the location of KATE [10] [10] —
(1) When arrangement is row major.
(ii) When arrangement is column major.
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Write an algorithm to convert Infix expression to Postfix expression.
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Write an algorithm for POP in a Stack.

gfora QootaT @ WeE W gd @Ify — 2
Simplify using laws of Boolean Algebra —

F=X-Fz+Xyz+x'¥
= gferg e & B A9 @ AEE W ' P — 2

Reduce the following Boolean function using Karnaugh map —
F(x,y,2)=1(0,2,4,5,6)

o aRel @ Agg 9§ feasd — 2
Use a truth table to show that —

P=p:q+p-g
fedtle fem & wrudie o=t — 2

Find the Complement by using Demorgan's law —

X-(J-Z+y-2)
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What is Key ? Explain Primary key, Altemnate key and Candidate key by giving examples.
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In Relational algebra, explain Union and Cartesian Product by giving suitable examples.

8. (®) wrax dfe T & 7 2
What is Fire Wall ?

(@) AR BrEARIT B TR | 3
Explain Video Conferencing.
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Write notes on following —

() wIErerd TS () BT AH

Protocol Address Dumam Name
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